
RS Aggarwal Solutions for Class 8 Maths Chapter 8 Exercise 8.2: The Physics Wallah
academic team has produced a comprehensive solution for Chapter 8's Linear Equations in the
RS Aggarwal class 8 textbook. The RS Aggarwal class 8 solution for Chapter 8 Linear
Equations Exercise-8B is uploaded for reference only; do not copy the solutions.

Before going through the solution of chapter 8 Linear Equations Exercise-8B, one must have a
clear understanding of the chapter 8 Linear Equations. Therefore, read the theory of Chapter 8
Linear Equations, and then try to solve all numerical of exercise-8B. Use NCERT solutions to
help you tackle class 8 questions and get good grades. Maths class 8 NCERT solutions were
uploaded by a Physics Wallah specialist.

RS Aggarwal Solutions for Class 8 Maths Chapter 8
Exercise 8.2 Linear Equations Overview
RS Aggarwal Solutions for Class 8 Maths Chapter 8 Exercise 8.2, providing a comprehensive
understanding of solving equations involving one variable. Exercise 8.2 is an integral part of this
chapter, emphasizing the practical application of linear equations in different scenarios. This
exercise helps students master the skill of solving equations by balancing them using basic
arithmetic operations such as addition, subtraction, multiplication, and division.

In RS Aggarwal Solutions for Class 8 Maths Chapter 8 Exercise 8.2, students are introduced to
a variety of problems that require forming and solving linear equations based on given
situations. These problems can involve real-life scenarios such as age-related questions, speed
and distance problems, and other logical reasoning questions that necessitate forming an
equation from a word problem.

RS Aggarwal Solutions for Class 8 Maths Chapter 8
Exercise 8.2 (Ex 8B)
Below we have provided RS Aggarwal Solutions for Class 8 Maths Chapter 8 Exercise 8.2
Linear Equations –

Question (1) Two numbers are in the ratio 8 : 3. If the sum of the numbers is 143, find the
numbers.

Solution: Let the two number is 8x and 3x respectively.

∴ 8x + 3x = 143

⇒ 11x = 143



x = 13

Therefore, the numbers are (8 × 13) = 104 and (3 × 13) = 39.

Question (2) 2/3 of numbers is 20 less than the original numbers. Find the number.

Solution: Let the original number be x.

∴ (2/3) x = x – 20

⇒ 2x = 3x – 60

⇒ 2x – 3x = – 60

⇒ – x = – 60

⇒ x = 60

Therefore, the number is 60.

Question (3) Four – fifths of a number is 10 more than two – thirds of the number. Find
the number.

Solution: Let the number be x.

⇒ 2x = 150

⇒ x = 75

Therefore, the number is 75.

Question (4) Twenty – four is divided into two parts such that 7 times the first part added
to 5 times the second part makes 146. Find each part.

Solution: Let the part be x.



7 times added first part = 7x

And the other part be = (24 – x)

5 times the second part = 5 (24 – x)

∴ 7x + 5(24 – x) = 146

⇒ 7x + 120 – 5x = 146

⇒ 2x = 146 – 120

⇒ x = 26/2

⇒ x = 13

Therefore, the each part is 13.

Question (5) Find the number whose fifth part increased by 5 is equal to its fourth part
diminished by 5.

Solution: Let the number be x.

⇒ 5x – 100 = 4x + 100

⇒ 5x – 4x = 100 + 100

⇒ x = 200

Therefore, the number is 200.

Question (6) Three numbers are in the ratio 4 : 5 : 6. If the sum of the largest and the
smallest equals the sum of the third and 55, find the numbers.



Solution: Let the numbers be 4x, 5x and 6x respectively

∴ 4x + 6x = 55 + 5x

⇒ 10x – 5x = 55

⇒ 5x = 55

⇒ x = 11

Therefore, the numbers are (4 × 11) = 44, (5 × 11) = 55 and (6 × 11) = 66.

Question (7) If 10 be added to four times a certain number, the result is 5 less than five
times the number. Find the number.

Solution: Let the number be x.

∴ 10 + 4x = 5x – 5

⇒ 4x – 5x = – 5 – 10

⇒ – x = – 15

⇒ x = 15

Therefore, the number is 15.

Question (8) Two numbers are such that the ratio between them is 3 : 5. If each is
increased by 10, the ratio between the new numbers so formed is 5 : 7. Find the original
numbers.

Solution: Let the numbers be 3x and 5x respectively.



Therefore, the required number is 5.

First number = (3 × 5) = 15 and second number = (5 × 5) = 25.

Question (9) Find three consecutive odd numbers whose sum is 147.

Solution: Let the three consecutive odd number be x, (x + 2) and (x + 4).

∴ x + x + 2 +x + 4 = 147

⇒ 3x + 6 = 147

⇒ 3x = 147 – 6

⇒ 3x = 141

⇒ x = 47

Therefore, the numbers are 47, (47 + 2) = 49 and (47 + 4) = 51.

Question (10) Find three consecutive even numbers sum 234.

Solution: Let the three consecutive even numbers be x, (x + 2) and (x + 4).

∴ x + x + 2 + x + 4 = 234

⇒ 3x + 6 = 234

⇒ 3x = 234 – 6

⇒ 3x = 228

⇒ x = 76

Therefore, the three numbers are 76, (76 + 2) = 78 and (76 + 4) = 90.

Question (11) The sum of the digits of a two – digit number is 12. If the new number
formed by reversing the digits is greater than the original number by 54, find the original
number. Check your solution.

Solution: Let the required number be x.

Digit of 10 place = (12 – x)

∴ Original number = 10(12 – x) + x = 120 – 10x + x = 120 – 9x

New number = 10x + 12 – x = 9x + 12



∴ New number – Original number = 54

⇒ (9x + 12) – (120 – 9x) = 54

⇒ 9x + 12 – 120 + 9x = 54

⇒ 18x = 54 + 108

⇒ 18x = 162

⇒ x = 9

Therefore, the unit place is 9.

Digit in ten place = (12 – 9) = 3

Hence, the original number is 39.

Check the solution: The original number = 39

Sum of the digit = 3 + 9 = 12

New number = 93

New number – original number = (93 – 39) = 54.

Question (12) The digit in the ten place of a two – digit number is three times that in the
units place. If the digits are reversed, the new number will be 36 less than original
number. Find the original number. Check your solution.

Solution: Let the digit in the unit place be x.

Digit in the ten place = 3x.

Original number = (10 × 3x) + x = 31x

New number = 10x + 3x = 13x

∴ New number = Original number – 36

⇒ 13x = 31x – 36

⇒ 13x – 31x = – 36

⇒ – 18x = -36

⇒ x = 2



Therefore, the digit in unit place = 2.

Digit in the ten place = (3 × 2) = 6

Therefore the original number = 62.

Check the solution: New number + 36 = Original number.

⇒ 26 + 36 = 62.

Therefore the original number is 62.

Question (13) The denominator of a rational number is greater than its numerator by 7. If
the numerator is increased by 17 and the denominator decreased by 6, the new number
becomes 2. Find the original number.

Solution: Let the numerator be x.

The denominator is greater than the numerator by 7.

⇒ x = 5

Therefore, the numerator is 5 and the denominator is (15 + 7) = 22.

The original number is (15/22).

Question (14) In a fraction, twice the numerator is 2 more than the denominator. If 3 is
added to the numerator and to the denominator, the new fraction is 2/3. Find the original
fraction.

Solution: Let the denominator be x.

Twice of numerator = x + 2.



⇒ 3(numerator + 3) = 2(denominator + 3)

⇒ 3 ×

⇒

⇒ 3x + 24 = 4x+12

⇒ 3x – 4x = 12 – 24

⇒ – x = – 12

⇒ x = 12

Therefore, the denominator is 12 and the numerator = (12+2)/2=14/2=7.

∴ The original fraction = 7/12.

Question (15) The length of a rectangle exceeds its breadth by 7 cm. If the length is
decreased by 4 cm and the breadth is increased by 3 cm, the area of the new rectangle is
the same as the area of the original rectangle. Find the length and the breadth of the
original rectangle.

Solution: let the breadth of the original rectangle be x cm.

The length = (x + 7) cm.

The area of the rectangle = [x × (x + 7)] sq cm.

∴ (x + 3) (x + 7 – 4) = (x) (x + 7)

⇒ x2 + 3x + 7x + 21 – 4x – 12 = x2 + 7x

⇒ x2 + 6x – x2 – 7x = – 9

⇒ – x = – 9

⇒ x = 9

Therefore, the breadth of the original number is 9 cm and the length is (9 + 7) = 16 cm.



Question (16) The width of a rectangle is two – thirds its length. If the perimeter is 180
metres, find the dimension of the rectangle.

Solution: Let the width of the rectangle be x cm.

The length of the rectangle be (3/2)x.

Therefore, the width of the rectangle is 36 cm.

And, the length of the rectangle =( 3/2)×36=(3×18)=54 cm.

Question (17) An altitude of a triangle is five – thirds the length of its corresponding
base. If the altitude be increased by 4 cm and the base decreased by 2 cm, the area of the
triangle remains the same. Find the base and the altitude of the triangle.

Solution: Let the length of the base be x cm.



Question (18) Two angles of a triangle are in the ratio 4 : 5. If the sum of theses angles is
equal to the third angle, find the angles of the triangle.

Solution: Let the two angle of the triangle be 4x and 5x respectively.

∴ Third angle of the triangle = 180 – (4x + 5x) = 180 – 9x.

∴ 4x + 5x = 180 – 9x

⇒ 9x = 180 – 9x



⇒ 9x + 9x = 180

⇒ 18x = 180

⇒ x = 10

Therefore, the first angle = (4 × 10) = 40o

Second angle = (5 × 10) = 50o

Third angle = (9 × 10) = 90o

Question (19) A steamer goes downstream from one port to another in 9 hours. It covers
the same distance upstream in 10 hours. If the speed of the stream be 1 km/h, find the
speed of the steamer in still water and the distance between the ports.

Solution: let the speed of the steamer in still water be x km/h.

Downstream speed = (x + 1) km/h

Upstream speed = (x – 1) km/h

Distance covered in 9 hours downstream = 9(x + 1) km

Distance covered in 10 hours upstream = 10(x – 1) km

Here given, both of these distances will be same:

9 (x + 1) = 10(x – 1)

⇒ 9x + 9 = 10x – 10

⇒ 9x – 10x = – 10 – 9

⇒ – x = – 19

⇒ x = 19

Therefore, the speed of the steamer in still water is 19 km/h.

Distance between the ports = 9(19 + 1) = 9 × 20 = 180 km

Question (20) The distance between two stations is 300 km. Two motorcyclists start
simultaneously from these stations and move towards each other. The speed of one of
them is 7 km/h more than that of the other. If the distance between them after 2 hours of
their start is 34 km, find the speed of each motorcyclist. Check your solution.

Solution: let the speed of 1st motorcyclist be x km/h.



So, the speed of the 2nd motorcyclist will be (x + 7) km/h.

Distance travelled by the 1st motorcyclist in 2 hours = 2 (x + 7) km

∴ 300 – [2x + (2x + 14)] = 34

⇒ 300 – 2x – 2x – 14 = 34

⇒ 286 – 4x = 34

⇒ – 4x = 34 – 286

⇒ – 4x = – 252

⇒ x = 63

Therefore, the speed of the first motorcyclist is 63 km/h.

The speed of the 2nd motorcyclist is (63 + 7) = 70 km/h.

Check the solution:

The distance covered by the first motorcyclist in 2 hours = 63 × 2 = 126 km

The distance covered by the 2nd motorcyclist in 2 hours = 70 × 2 = 140 km.

The distance between the motorcyclist after 2 hours = 300 – (126 + 140) = 300 – 266 = 34 km

Therefore, the speeds of the motorcyclist s are 63 km/h and 70 km/h, respectively.

Question (21) Divide 150 into three parts such that the second number is five-sixths the
first and the third number is four-fifths the second.

Solution: let the first number be x.



⇒ 15x = 150 × 6

⇒ 15x = 900

⇒ x = 60

Therefore, the first number is 60.

Question (22) Divide 4500 into two parts such that 5% of the first part is equal to 10% of
the second part.

Solution: let the first part be x.

Let the second part be (4500 – x).

∴ 5% of x = 10% of (4500 – x)



⇒ x = 3000

Therefore, the first part is 3000 and second part = (45000 – 3000) = 1500.

Question (23) Rakhi’s mother is four times as old as Rakhi. After 5 years, her mother will
be three times as old as she will be then. Find their present ages.

Solution: Let the present age of Rakhi be x.

Then, the present age of the rakhi’s mother will be 4x.

After 5 tears, Rakhi’s are will be (x + 5).

After 5 years, her mother’s age will be (4x + 6).

∴ 4x + 5 = 3(x + 5)

⇒ 4x + 5 = 3x + 15

⇒ 4x – 3x = 15 – 5

⇒ x = 10

Present age of Rakhi = 10 years.

Present age of Rakhi’s mother = (4 × 10) = 40 years.

Question (24) Monu’s father is 26 years younger than Monu’s grandfather and 29 years
older than Monu. The sum of the ages of all the three is 135 years. What is the ages of
each one of them?

Solution: Let the age of Monu’s father be x years.

The age of Monu’s grandfather will be (x + 26) years.



Then, the age of Monu will be (x – 29) years.

∴ x + (x + 26) + (x – 29) = 135

⇒ x + x + 26 + x – 29 = 135

⇒ 3x – 3 = 135

⇒ 3x = 135 + 3

⇒ 3x = 138

⇒ x = 46

Therefore, the age of Mon’s father = 46 years.

Age of the Monu’s grandfather = (46 + 26) = 72 years.

Age of Monu = (46 – 29) = 17 years.

Question (25) A man is 10 times older than his grandson. He is also 54 years older than
him. Find their present ages.

Solution: Let the age of the grandson be x years.

Then, his grandfather’s age will be 10x.

∴ Age of the grandson = (x + 54) years

⇒ 10x = x + 54

⇒ 10x – x = 54

⇒ 9x = 54

⇒ x = 6

Therefore, the grandson’s age is 6 years and his grandfather’s age = (10 × 6) = 60 years.

Question (26) The difference between the ages of two cousins is 10 years. 15 years ago, if
the elder one was twice as old as the younger one, find their present ages.

Solution: let the age of the younger cousin be x years.

Then, the age of the elder cousin will be (x + 10) years.

15 years ago age of the younger cousin = (x – 15) years



15 years ago age of the elder cousin = (x + 10 – 15) years = (x – 5) years

∴ (x – 5) = 2(x – 15)

⇒ x – 5 = 2x – 30

⇒ x – 2x = – 30 + 5

⇒ – x = – 25

⇒ x = 25

Therefore, the present age of the younger cousin is 25 years.

Present age of elder cousin = (25 + 10) = 35 years.

Question (27) Half of herd of deer are grazing in the field and three-fourths of the
remaining are playing nearby. The rest 9 are drinking water from the pond. Find the
number of deer in the herd.

Solution: let the number of deer in the herd be x.

⇒ 8x = 72 + 7x

⇒ 8x – 7x = 72



⇒ x = 72.

Therefore, the total number of deer in the herd is 72.

Benefits of RS Aggarwal Solutions for Class 8 Maths
Chapter 8 Exercise 8.2
The RS Aggarwal Solutions for Class 8 Maths Chapter 8 Exercise 8.2 on Linear Equations offer
several benefits to students. Here are some key advantages:

1. Comprehensive Understanding

Concept Clarity: The RS Aggarwal Solutions for Class 8 Maths Chapter 8 Exercise 8.2 provide
a clear explanation of each step involved in solving linear equations, helping students
understand the logic behind each calculation.

Step-by-Step Guidance: Students can follow a detailed breakdown of problems, making
complex concepts easier to grasp.

2. Problem-Solving Skills

Diverse Problems: The RS Aggarwal Solutions for Class 8 Maths Chapter 8 Exercise 8.2
includes a variety of problems, from simple equations to complex word problems, which
enhances problem-solving abilities.

Logical Thinking: Students learn to form equations from real-life scenarios, promoting logical
and analytical thinking.

3. Confidence Building

Practice and Reinforcement: Regular practice with these solutions boosts confidence as
students become more familiar with different types of linear equations.

Error Analysis: Solutions help identify common mistakes, allowing students to learn from errors
and improve accuracy.

4. Exam Preparation

Exam-Oriented Approach: The problems align with the curriculum, ensuring that students are
well-prepared for exams.

Time Management: Practicing with these solutions can improve speed and efficiency in solving
equations, essential for timed tests.




